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NAME ____________________

MOLE PRACTICE QUIZ
Use significant digits in your calculations, and include units.  Show all work.

1.
Find the molar mass of potassium dichromate, K2Cr2O7.


[1 mark]
2.
A bottle of orange potassium dichromate crystals has a mass of 98.3 g.  How many moles of the compound are in the bottle?




[2 marks]
3.
One large crystal of potassium dichromate contains 2.347 x 1024 formula units.  What is the mass of the crystal?






[3 marks]
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MOLE PRACTICE QUIZ
Use significant digits in your calculations, and include units.  Show all work.

1.
Find the molar mass of potassium dichromate, K2Cr2O7.


[1 mark]

      M 
= 2(39.10 g/mol + 2(52.00 g/mol + 7(16.00 g/mol



= 294.20 g/mol

2.
A bottle of orange potassium dichromate crystals has a mass of 98.3 g.  How many moles of the compound are in the bottle?




[2 marks]

m = 983 g


n = 
983 g

n = ?          

      

294.20g/mol


n = m 


   =
3.34 mol

                   M


M = 294.20 g/mol


( There are 3.34 mol of potassium dichromate in the bottle.

3.
One large crystal of potassium dichromate contains 2.347 x 1024 formula units.  What is the mass of the crystal?






[3 marks]

N = 2.347(1024 formula units

n = 
2.347(1024 formula units

m = ?






6.02(1023 formula units/mol


n = N  




   =
3.899 mol


       NA 



m = n(M


NA = 6.02(1023 formula units 

m = 3.899 mol ( 294.20g



mol






mol


M = 294.20 g  



     = 1150 g   or   1.15(103 g



mol


( The crystal of potassium dichromate has a mass of 1.15(103 g.

